koko 42

B-kaavio

(=}
~
= HE _ER
> [ ]
=% HE ERm
]
~
=
=1
=%
]
o~
=<
=1
a
o HE BN EEEN
2 | |
> HE EE
= HN EE
=9 | |
- N EE
= HEEE
[ |
o
-
=
=
[=%
=

84 B3 82 81 BO 79 78 77 76 75 74 73 72 71 70 69 68 67 66 6564 63 62 61 60 59 58 57 56 55 54 53 52 51 50 49 48 47 46 45 44 43 42 41 40 33 38 37 36 35 34 33 32 3130 29 28 27 26 25 24 232221 20 19 1817 161514 131211109 8 7 6 5 4 3 2 1

neulo 2 s oikein yhteen

N

neulo

ylivetokavennus = nosta 1 s oikein neulomatta,

1 s oikein ja veda nostettu s neulotun yli)



